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Success Criteria

Aim
• I can divide numbers by a two-digit number using short division.

• I can use known multiplication facts to complete calculations.

• I understand why place value is important whilst performing written 
calculations.

• I can use a written method to solve a calculation.

• I can divide numbers by a two-digit number using short division.
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In pairs, take turns to roll a dice and place the digit onto the
Make Me a Number Activity Sheet.

Make Me a Number

Create four-digit
numbers to show the 
highest even number, 

lowest odd number and 
the number closest to 

5000. 

At the end of
the game, compare

your numbers to find 
out who has won

overall.
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There are 2937 race programmes. The booklets are shared equally
between 11 boxes. How many programmes are in each box?

Race Day

Today, we will be 
learning about the 

written method, short 
division. 
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First, we need to read the question and highlight any key words.

Race Day

There are 2937 race programmes. The 
booklets are shared equally between 11 
boxes. How many programmes are in

each box?

There are 2937 race programmes. The 
booklets are shared equally between 11
boxes. How many programmes are in

each box?

The question is asking us to share the 
programmes between the boxes. Therefore 

a division calculation is needed.

We can use the short division method to 
help show how many times the divisor 

goes into the dividend. 1 1 2               9 3 7

The number being 
divided is known as 

the dividend.

The number by which 
another number is to 

be divided is known as 
the divisor.
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There are 2937 race programmes. The booklets are shared equally
between 11 boxes. How many programmes are in each box?

Race Day

1 1 2               9 3 7

2 6
2 7

First we divide 2 (thousands) by 11. This 
gives a result of 0 with a remainder of 2. 

The remainder 2 (thousands) is exchanged 
for 20 hundreds and regrouped into the 

hundreds column. 

This is shown by a small 2 in front of
the existing 9 hundreds to make

29 hundreds.

7
7

Next, we divide 29 (hundreds) by 11. This 
gives a result of 2 (hundreds) remainder 
7 (because 2 x 11 = 22). The remainder 7 
(hundreds) is exchanged for 70 tens and 

regrouped into the tens column.

This is shown by a small 7 in front of the 
existing 3 tens to make 73 tens. The 2 is 
written in the hundreds position of the 

answer above the line.

Next, we divide 73 (tens) by 11. This
gives a result of 6 (tens) remainder 7

(as 6 x 11 = 66). The remainder 7 (tens) 
is exchanged for 70 ones and regrouped 

into the ones column. 

This is shown by a small 7 in front of
the existing 7 ones to make 77 ones. 6 is 
written in the tens position of the answer 

above the line.

After, we divide 77 (ones) by 11.
This gives a result of 7 (ones) and no 
remainder. The 7 is written in the ones 
position of the answer above the line. 

So 2937 ÷ 11 = 267

How could we check our answer?

https://www.regentstudies.com


Race Day
Let’s have a go at a different problem involving four-digit numbers.

There are 5284 souvenir trophy replicas. Each 
box must contain 12 trophies. How many 
boxes are needed? Are there any trophies 

remaining? 

First, we need to read the question and 
highlight any key words. 

The question is asking us to find out how 
many boxes are needed when there are 12 

trophies per box. Therefore a division 
calculation is needed.

Short division is based on the idea of 
distributing the division across a partitioned 
number, e.g. distributing the division of 12 
across the addition of five thousands, two 
hundreds, eight tens and four ones in the 

number 5284.

There are 5284 souvenir trophy replicas. Each 
box must contain 12 trophies. How many 
boxes are needed? Are there any trophies 

remaining? 

1 2 5               2 8 4

The number being 
divided is known as 

the dividend.

The number by which 
another number is to 

be divided is known as 
the divisor.
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Race Day
There are 5284 souvenir trophy replicas. Each box must contain 12 

trophies. How many boxes are needed? Are there any trophies remaining? 

First we divide 5 (thousands) by 12.
This gives a result of 0 with a remainder of 5. 
The remainder 5 (thousands) is exchanged for 

50 hundreds and regrouped into the
hundreds column. 

1 2 5               2 8 4

4 4
5 4

0 r4

This is shown by a small 5 in front of the 
existing 2 hundreds to make 52 hundreds. 

Next, we divide 52 (hundreds) by 12.
This gives a result of 4 (hundreds) remainder 
4. The remainder 4 (hundreds) is exchanged 

for 40 tens and regrouped into the
tens column. 

This is shown by a small 4 in front of the 
existing 8 tens to make 48 tens. The 4 is 

written in the hundreds position of the answer 
above the line.

Next we divide 48 (tens) by 12. This gives a 
result of 4. The 4 is written in the tens 
position of the answer above the line. 

Next, we divide 4 (ones) by 12.
This cannot be done, so there are four 

remaining. A zero is placed in the ones answer 
section as well as remainder 4. 

So 5284 ÷ 12 = 440 r4.

How could we check our answer?
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Race Day
Let’s have a go at a different problem involving four-digit numbers.

The race driver’s prize 
fund of £5227.20 is split 
equally between his 12 

chosen charities.
How much money does 
each charity receive?

First, we need to read the 
question and highlight 

any key words. 

The race driver’s prize 
fund of £5227.20 is split 
equally between his 12

chosen charities.
How much money does 
each charity receive?

The question is asking
us to find out how much 

each charity receives 
from the prize fund. 
Therefore a division 

calculation is needed.

Short division is based
on the idea of 

distributing the division 
across a partitioned 

number, e.g. distributing 
the division of 12 across 

the addition of five 
thousands, two hundreds, 
two tens, seven ones and 

two tenths in the
number 5227.20.

The number 
being divided is 
known as the 

dividend.

The number by 
which another 
number is to be 

divided is known as 
the divisor.

1 2 5               2 2 7 2 0.
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Race Day

There are 5284 souvenir trophy replicas. Each 
box must contain 12 trophies. How many 
boxes are needed? Are there any trophies 

remaining? 

The race driver’s prize fund of £5227.20 is split equally between his
12 chosen charities. How much money does each charity receive?

First, we divide 5 
(thousands) by 12. This 
gives a result of 0 with a 

remainder of 5. The 
remainder 5 (thousands) 

is exchanged for 50 
hundreds and regrouped 

into the hundreds 
column. 

1 2 5               2 2 7 2 0.

4 3
5 4

5 6.
6 7

This is shown by a small 
5 in front of the existing 

2 hundreds to make
52 hundreds.

Next, we divide 52 
(hundreds) by 12. This 

gives a result of 4 
(hundreds) remainder 4 
(because 12 x 4 = 48). 

The remainder 4 
(hundreds) is exchanged 
for 40 tens and regrouped 

into the tens column. 

This is shown by a small 
4 in front of the existing 
2 tens to make 42 tens. 
The 4 is written in the 

hundreds position of the 
answer above the line. 

Next, we divide 42 
(tens) by 12. This gives a 
result of 3 remainder 6

(as 3 x 12 = 36).
The 3 is written in the 
tens position of the 

answer above the line. 
The remainder 6 (tens) 
is exchanged for 60 ones 
and regrouped into the 

ones column.

This is shown by a small 
6 in front of the existing 

7 hundreds to make
67 ones. 

Next, we divide 67 (ones) 
by 12. This gives a result 

of 5 remainder 7
(12 x 5 = 60).

The 5 is written in the 
ones position of the 

answer above the line. 
The remainder 7 (ones) 

is exchanged for 70 
tenths and regrouped into 

the tenths column. 

This is shown by a small 
7 in front of the existing 

2 tenths to make 72 
tenths. 

After, we divide the 72 
(tenths) by 12. This gives 

a result of 6. This 6 is 
written in the tenths 
position of the answer 

above the line.

So 
£5227.20 ÷ 12 = £435.60

How could we check our 
answer? 
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It takes a driver 1935 seconds to complete 15 laps.
What is the average time taken to complete one lap of the track?

Race Day Problems
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It costs £8568 for 12 spare tyres. How much does each tyre cost?

Race Day Problems
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Race Day T-shirts are packed into boxes of 11. There are 5029 T-shirts.
How many boxes are needed? Are there any T-shirts remaining? 

Race Day Problems

https://www.regentstudies.com


Use your marvellous maths skill to complete these activities:

Engines Ready
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Dive in by completing your own activity!

Diving into Mastery
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Discuss with the person next to you three things that you did
well this lesson and one thing that you would like to improve on.

Three Stars and a Wish

I feel that I did…
really well.

I would like to do
more work on…
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Success Criteria

Aim
• I can divide numbers by a two-digit number using short division.

• I can use known multiplication facts to complete calculations.

• I understand why place value is important whilst performing written 
calculations.

• I can use a written method to solve a calculation.

• I can divide numbers by a two-digit number using short division.
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